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4.

The mass of the'bag shown below is

(1) 550¢
(2) 600g
(3) 1550¢g
(4) 16004g

The average of five rnumbers is 265. What is the sum of the five
numbers?

(1) 51
(2) 53
(3) 1025
(4) 1325
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7.

Which figure below has a fine of symmetry?

(1)

(4)
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12.

13.

Find the difference belween 6 tenths and 88 hundredths. Round off
your answer to-the nearest tenth.

(1) 0.2
(2) 03

(3) 0.5
(4) 06 ( )

What is the area of the shaded trianglte shown below?

8 cm

d
*

(1) 24 cm*
(2) 36cm’
(3) 60 cm
(4y 68 cm (

AN

e

The mass of Box A is 36 kg. The total mass of Box 8 and Cis 3 times
the mass of Box A. What is the average mass of the three boxes?

(1) 16kg
(2) 48kg
(3) 84kg
(4) 144kg ()
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Booklet B:

Questions 16 to 25 carry 1 mark each. Wiite your answers in the spaces provided. For

questions which require units, give your answers in the units stated.

(10 marks)

16. Find the difference in values of the digit 9 in 293 967.

Ans:

17. What is the missing fraction in the hox? Give your answer in the simplest form.

280= |7

18. 3 h 15 min=

x 350

Ans:

Ans: min
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49._ Find the perimeter of the semicircle shown below.

v

14 cm

20. 287900m = km.
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(Take TT= 2_72..)

Ans:

Ans: )

cm

km



21. Mrs Tan sold a total of 552 muffins from Tuesday to Friday. What was the
average number of muffins Mrs Tan sold each day?

Ans:

22.  The table shows the number of television sets each family in Katong housing
estate has. There are 150 families in the housing estate.

Number of television sets |

. 0 1 2 3
per family

Number of families 16 29 75 30

What percentage of the families has at least 2 television sets?

Ans: Y%
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25. Express 4.05 as a percentage.
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Ans:

%






28. Given that g of a number is 80, what is the number?

Ans:

29. The capacity of a pail is 4.5 £. Jane uses 12 such pails of water to fill 5 identical

tanks completely. What is the capacity of each tank?

Ans: {
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3. Tin A contained 6 times as many biscuits as Tin B. Jennifer added 150 biscuits to
Tin B. The 2 fins then had the same number of biscuits. Find the total number of
biscuits in the 2 fins at first. '

Ans:

4. in the figure below, 4 identical squares have been placed side by side to form a
rectangle of perimeter 50 m. Find the area of each square.

Ans: m
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For questions 6 to 18, show your working clearly in the space provided for each
question and write your answers in the spaces provided.
The number of marks avaitable is shown in brackets [ ] at the end of each question

or part-question. (50 marks)

6.  There were 3 220 spectators at a stadium. g of the male and % of the female

spectators did not wear sunglasses. The number of male spectators who wore
sunglasses was the same as the number of female spectators who wore
sunglasses. How many spectators wore sunglasses altogether?

Ans: 131

7. A 0.75-m long ribbon is used to tie a cubic box as shown in the picture. The
tying of the bow used up 0.1t m of the ribbon. Find the length of each side of
the box in metres.

=

Ans: [3}
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9. Alice decided to save part of her pocket money every day for a year. She saved
$3 on the first day of the year. She continued to save $y more each day than the
day before.

{(a) What was her total savings for the first 4 days of the year?
(b) How much did she save on the 234" day itself?

Ans: (a) 2]
{b) 1]

10. Three 2-digit numbers were written on a piece of paper. The average of the three
numbers was 42. A digit of two of the numbers was covered by a stain.
What were the two 2-digit numbers?

18

Ans: and {3}
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12.

Mrs Bala had a total of 128 apples, oranges and mangoes in theratioof 7:5: 4
respectively. After she gave away some apples and 15 mangoes, the ratio of the
number of oranges 1o the total number of fiuits feft became 1: 2. How many

apples did Mrs Bala give away?

Ans: {4}
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14.

Mrs Wong was paid $5 for every cooking pot she sold. She was paid a bonus of
$20 for every 8 cooking pots she sold. She earned $500 for ali the cooking pots
she sold. How many cooking pots did she sell? 7

Ans: 14
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16. The figure below shows semi-circle A'and quarter-circle C inside a square of side
12 cm. B is the remaining portion of the square. not covered by A and C.

(a) Find the penimeter of B.
{b) Find the area of B.
(Take = 3.14)

Ans: (a) (31
(b), , 2]
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18.

There were 20 questions in a quiz.

For each question answered correctly, 6 points were awarded.
For each question answered incorrectly, 4 points were deducted.
For each question left blank, no points were awarded or deducted.

(a) Ben answered all the questions in the quiz but obtained a score of zero. How
many questions did Ben answer comrectly?

{b) Ray scored 16 points for the quiz. The number of questions he answered
correctly was the same as the aumber of questions he answered incorrectly.
How many questions did he leave:blank?

Ans: [5]
END OF PAPER
Setters: Mr Bemaid Li Mrs Priscilla Heng
Mrs Josephine Lai Ms Yew Hew Mei

Mdm Norah Idit
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EXAM

PAPER 2014

LEVEL : PRIMARY 6
SCHOOL : HENRY PARK
SUBJECT : MATHS

TERM SA1
Q1lQzlQ3|a4[Qs]06|{Q7]08{Q9]Q10]Q11]Q12 | Q13| Q14 | Q15
4 14121341 1]14]11]3 1 2 2 2 2 4

Q16
Q17
Q18
Q19
Q20
Q21
Q22

Q23

89100

4/5

195 min

36 cm
287.9 km
138 muffins

70%

Q24
Q25
Q26
Q27
Q28
Q29

Q30

120 °
405%
0.074
15:13

128

10.8L

115°




PAPER 2

01 V36=6
6X4=24

its perimeter is 24 cm.

Q2 (ay6comers - : T
(b) 5 faces

Q3 6-1=5
5 units — 1950
1 unit — 30
7 units — 210

The total number of hiscuits is 210.

Q4 10 units — 50m

1unit— 5m
5x5=25

The area is 25m”.

Q5 90+2=45
45 x 3 = 135
/. EGH is135°

Qs 1-="h

130 = Uy
UF =Y
4]151: = 4[7M
16+7 =23

23 units— 3220
{ unit — 140
4x2=28

140 x 8 = 1120

1420 spectators wore glasses altogether.

Q7 075-0.11=064
0.64 + 8 =0.08 (8 sides)

The length is 0.08m.

Q8 6x5x%x05=15
10x5=50
50 + 15 =65
65+13=5
2 (13 +5)=36
The perimeter is 36 cm.



Q9 3+y+3+y+y+3+y+y+y+3:6y+12
& - Her fotal savings is $(6y+12).

234 -1 =233
233 xy = 233y
233y + 3 — 234" day

o. She saved ${233y + 3).

Q10 42x3=126
126 -18-2-30=76
70+6=76
70+2=72
30+6=236

The digits are 36 and 72.

Q11 10+2=5
5x10x05=25
5x5x3.14=78.5
785-25=53.5

The area is 53.5 cm’.

Q12 A:O: M
7:5: 4

-15

-? {gave away)

left . orange

2:1 (x5) .
10: 5 {(Orange unchanged)

7+5+4=16

16 units — 128

1 unit — 8

10 units - 80 (fruits left)

128 — 80 = 48 (gave away apples + 15 mangoes)
48 -~ 15 =33

She gave away 33 apples.






Q17 W
3u:5u {(x3)
9u: 15u
(morning) 3u : 5u (% sold)

Diff
6u: 10u (left) 4u
(afternoon) -8 -8 (sold)
iu: 2u
4u : 8u (left)

1u {x4)

(@) Theratiois 3: 5

(b) 10u—8u=2u
2u— 8
9u — 36

There were 36 watermelons at first.
Q18 Assume Ben answered all the questions.correctly.

20x6=120
6+4=10
120 = 10 =12
20--12=8

Ben answered 8 questions correctly.
Assume Ben answered all the questions
20+2=10

10 x6 =60

10 x4 =40

60—-40=20

20-16=4

He left 4 questions blank.






	Henry Park SA1


